
ME 1020 Engineering Programming with MATLAB 

Open a new Script File for Problem 3.17: 

 

Problem setup: 

𝑦1 = 𝑎𝑥1
3 + 𝑏𝑥1

2 + 𝑐𝑥1 + 𝑑 

𝑦2 = 𝑎𝑥2
3 + 𝑏𝑥2

2 + 𝑐𝑥2 + 𝑑 

𝑦3 = 𝑎𝑥3
3 + 𝑏𝑥3

2 + 𝑐𝑥3 + 𝑑 

𝑦4 = 𝑎𝑥4
3 + 𝑏𝑥4

2 + 𝑐𝑥4 + 𝑑 

𝑥 = 𝐴−1𝑏 

where  

𝐴 = [
𝑥1

3 𝑥1
2 ⋯

𝑥2
3 𝑥2

2 ⋯
⋮ ⋮ ⋱

] 

𝑥 = [𝑎 𝑏 𝑐 𝑑]𝑇;       𝑏 =  [𝑦1 𝑦2 𝑦3 𝑦4]𝑇 

 

% Problem 3.17 

function [a,b,c,d] = abcd_points(x_1,y_1,x_2,y_2,x_3,y_3,x_4,y_4) 

 

A = [x_1^3, x_1^2, x_1, 1; 

    x_2^3, x_2^2, x_2, 1; 

    x_3^3, x_3^2, x_3, 1; 

    x_4^3, x_4^2, x_4, 1] 

b = [y_1; y_2; y_3; y_4] 

x=inv(A)*b 

 

% Problem 3.17 

clear 

clc 

disp('Problem 3.17: Scott Thomas') 

 

abcd_points(-2,-20,0,4,2,68,4,508) 



Problem 3.17: Scott Thomas 

 

A = 

 

    -8     4    -2     1 

     0     0     0     1 

     8     4     2     1 

    64    16     4     1 

 

 

b = 

 

   -20 

     4 

    68 

   508 

 

 

x = 

 

    7.0000 

    5.0000 

   -6.0000 

    4.0000 

 

 

 


